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AB = 6cm , BC = 10em , /BCD =
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O V67 @ V71
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D 7V2cm? @ 14V2cm? ® 21V2cm?
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O 95° @ 100° @ 120°

@ 135° ® 150°
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W} 7ol ,C = 90° ¢l

ABC °f|4 AC = 36,
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@ 10V11
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ojtt. Y& o] Bul& F5HH?
@D 2433x @ 244V3r
® 2453n @ 243+5n
® 246 Vhr
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B, C oA A & &8tt & 79| 2718 S5t Y, 72°, 65° ©|2
o B % ol h B Fob] AT SUE 4L
100 100
sin 25° — sin 18° tan 25° — tan 18°
100 @ sin 25° — sin 18°
100

cos 25° — cos 18°
cos 25° — cos 18°

@ 100



15. o 93} 22 YPAPASY ABCD
oA Bzt BD 9F AC ¢ =S P
2} gt} /BCD = 60°, AD = 12cm,
AB = 8cm ¥ W, AAPD 2] Ho]&
otoizt,

O 12v3 @ 14v3 ©® 16V3 @ 18vV3 ® 20V3
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Holg Fohw?

@ 54cm? @ 54V2cm? ® 5443 cm?
@ 55cm? ® 55v2cm?



19. 47h)2 olgsie] 7M7) ABC 9] B
012 Vet 7127
2 .
©) w @ acos AtanA
@ asin AcosA @ a®sin AcosA
a? sin AcosA
® 2




20. TH 1¥o)A oABCD 9] Wol=?

D 18 V3cm? @ 21+V3cm? ® 2543cm?
@ 274/3cm? ® 3043cm?



